Installation Instructions @ Allen-Bra dley

Original Instructions

MP-Series Electric Cylinders Replacement
Parts (Series B and ()

Catalog Numbers MPAR-NA3210C, MPAR-NA323C, MPAR-NA4012C, MPAR-NA405C,
MPAR-NA6310C, MPAR-NA6320C

MPAR-NP3210B, MPAR-NP323B, MPAR-NP4012B, MPAR-NP405B, MPAR-NP6310B,
MPAR-NP6320B

MPL-x1520F-V-X20x, MPL-x1530F-V-X20x, MPL-x220F-V-X2xx, MPL-x330F-M-X21x,
MPL-x420F-M-X21x

MPAR-X1xxxB, MPAR-X1xxxE, MPAR-X2xxxC, MPAR-X2xxxF, MPAR-X3xxxE, MPAR-X3xxxH

Topic Page

Summary of Changes

About This Publication

About the MP-Series Electric Cylinder Replacement Parts

Before You Begin

Replace Inline-mount Electric Cylinder Motor

2
2
2
Catalog Number Explanation 3
6
6
7

Replace Inline-mount Electric Cylinder Coupling or Actuator Cylinder

Replace a Parallel-mount Electric Cylinder Motor or Belt 12

Additional Resources 18

Rockwell
Allen-Bradley - Rockwell Software Automation



MP-Series Electric Cylinders Replacement Parts (Series B and ()

Summary of Changes

This manual contains new and updated information.
Topic Page
Updated installation instruction for series Band C. Throughout

MPAR-Series (Series A and B) and TL-Series electric cylinders replacement parts
information has been relocated to MP-Series (Series A and B) and TL-Series Electric Throughout
(ylinders Replacement Parts, publication MPAR-INOO4-EN-P.

About This Publication

An electric-cylinder actuator and accessory supplier change affected the MP-Series™ electric
cylinders. MPAR-A1/2xxx and MPAR-B1/2xxx (series C) electric cylinders and
MPAR-A/B3xxx (series B) electric cylinders reflect the change.

See MP-Series (series A and B) and TL-Series Electric Cylinders Replacement Parts, publication
MPAR-IN004-EN-P, for information regarding MPAR-A1/2xxx and MPAR-B1/2xxx
(series A) and MPAR-A/B3xxx (series B) electric cylinders.

About the MP-Series Electric Cylinder Replacement Parts

Electric cylinders have three replaceable parts; the motor, actuator cylinder, and the transmission
component. For inline-mount electric cylinders, the transmission component is the coupler and
for parallel-mount electric cylinder, it is a belt. Instructions in this manual cover the replacement
of these components.

2 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018


http://literature.rockwellautomation.com/idc/groups/literature/documents/in/mpar-in004_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/in/mpar-in004_-en-p.pdf

MP-Series Electric Cylinders Replacement Parts (Series B and C)

Catalog Number Explanation

Replacement Couplings
Electric Cylinder with Inline

Replacement Motor Attributes Use with Electric
Coupling Cylinder

Cat. No. Frame Size Ball Screw Pitch Cat. No.

mm/rev (in./rev)
MPAR-NA3210C 10.0 (0.394) MPAR-xTxxxE-xxA
MPAR-NA323C *? 3.0(0.118) MPAR-x LxxxB-xxA
MPAR-NA4012C 12.7 (0.500) MPAR-x20xxF-xxA
MPAR-NA405C Y 5.0(0.197) MPAR-x2xxxC-xxA
MPAR-NA6310C 10.0 (0.394) MPAR-x3xxxE-xxA
MPAR-NA6320C ® 20.0(0.787) MPAR-x3xxxH-xxA
Replacement Belts
Electric Cylinder with Motor Mounted . .

Replacement Belt | in Parallel Attributes g;le"‘l’;'::‘ Electric
cat o Frame Size :::]I /f:vr?:;::v()h Cat. No.
MPAR-NP622580 10.0(0.394) MPAR-xTxxxE-xxB/D/E
MPAR-NP622581 *? 3.0(0.118) MPAR-x1xxxB-xxB/D/E
MPAR-NP622582 12.7(0.500) MPAR-x2xxxF-xxB/D/E
MPAR-NP622583 0 5.0(0.197) MPAR-x2xxxC-xxB/D/E
MPAR-NP622584 10.0(0.394) MPAR-x3xxxE-xxB/D/E
MPAR-NP622585 © 20.0(0.787) MPAR-x3xxxH-xxB/D/E

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 3



MP-Series Electric Cylinders Replacement Parts (Series B and ()

Replacement Motor for MPAR-Series Electric Cylinders

Replacement Motor

Electric Cylinder Attributes

Use with Electric

Voltage . | . Cylinder

Cat. No. Class Frame Size | Pitch mm/rev (in./rev) | Brake Cat. No.

MPL-A1520F-V-X203 None MPAR-ATxxxB-x2x
_ 3.0(0.118)

MPL-A1520F-V-X204 24V Brake MPAR-AxxxB-x4x
_ 32

MPL-A1530F-V-X205 None MPAR-ATxxxE-x2x
_ 10.0 (0.394)

MPL-A1530F-V-X206 24V Brake MPAR-ATxxXE-x4x

MPL-A1530F-V-X207 None MPAR-A2xxxC-x2x
_ 5.0(0.197)

MPL-A1530F-V-X208 24V Brake MPAR-A2xxxC-x4x
_———1 200 40

MPL-A220F-V-X209 None MPAR-A2xxxF-x2x
_ 12.7(0.50)

MPL-A220F-V-X210 24V Brake MPAR-A2xxxF-x4x

MPL-A330F-M-X211 None MPAR-A3xxxE-x2x
_ 10.0 (0.394)

MPL-A330F-M-X212 24V Brake MPAR-A3xxxE-x4x
_ 63

MPL-A420F-M-X213 None MPAR-A3xxxH-x2x
_ 20(0.787)

MPL-A420F-M-X214 24V Brake MPAR-A3xxxH-x4x

MPL-B1520F-V-X215 None MPAR-B1xxxB-x2x
_ 3.0(0.118)

MPL-B1520F-V-X216 24V Brake MPAR-B LoxxB-x4x
_ 32

MPL-B1530F-V-X217 None MPARBATXXXE-x2x
_ 10.0 (0.394)

MPL-B1530F-V-X218 24V Brake MPAR-B LxxxE-x4x

MPL-B1530F-V-X219 None MPAR-B2xxxC-x2x
_ 5.0(0.197)

MPL-B1530F-V-X220 24V Brake MPAR-B2xxxC-x4x
———————1 400 40

MPL-B220F-V-X221 None MPAR-B2xxxF-x2x
_— 12.7(0.50)

MPL-B220F-V-X222 24V Brake MPAR-B2xxxF-x4x

MPL-B330F-M-X223 None MPAR-B3xxxE-x2x
_ 10.0 (0.394)

MPL-B330F-M-X224 24V Brake MPAR-B3xxxE-x4x
_ 63

MPL-B420F-M-X225 None MPAR-B3xxxH-x2x
_ 20.0(0.787)

MPL-B420F-M-X226 24V Brake MPAR-B3xxxH-x4x

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

Replacement Actuator
Replacement Electric Cylinder Attributes
?::l;::r ::zaem ¢ ::rtr:/hrev (in./rev) Stroke Length mm (in) ::::::.h e Qinder
MPAR-X1100B 100 MPAR-XTxxxB-xxx
MPAR-X1200B 200 MPAR-X1xxxB-Xxx
_ 3.0(0.118)
MPAR-X1300B 300 MPAR-xTxxxB-xxx
MPAR-X1400B 400 MPAR-X1xxxB-Xxxx
MPAR-X1100E *? 100 MPAR-xTxxXE-Xxx
MPAR-X1200E 200 MPAR-X1XXXE-Xxx
_ 10.0(0.394)
MPAR-X1300E 300 MPAR-xTxXXE-Xxx
MPAR-X1400E 400 MPAR-X1XXXE-Xxx
MPAR-X2100C 100 MPAR-x2xxxC-Xxx
MPAR-X2200C 200 MPAR-X2xxXC-xxX
MPAR-X2300C 5.0(0.197) 300 MPAR-X2XXXC-XXX
MPAR-X2400C 400 MPAR-x2xxxC-xxx
MPAR-X2600C 600 MPAR-x2xxxC-Xxx
MPAR-X2100F 0 100 MPAR-X2XxXF-Xxx
MPAR-X2200F 200 MPAR-x2xxxF-Xxxx
MPAR-X2300F 12.7(0.50) 300 MPAR-x2xxxF-Xxx
MPAR-X2400F 400 MPAR-x2xxxF-Xxxx
MPAR-X2600F 600 MPAR-x2xxxF-Xxx
MPAR-X3100E 100 MPAR-x3xxXE-Xxx
MPAR-X3200E 200 MPAR-x3xXXE-Xxx
MPAR-X3300E 300 MPAR-x3xXXE-Xxx
_ 10.0 (0.344)
MPAR-X3400E 400 MPAR-X3XXXE-Xxx
MPAR-X3600E 600 MPAR-x3xXXE-Xxx
MPAR-X3800E 800 MPAR-x3xXXE-Xxx
MPAR-X3100H ® 100 MPAR-x3xxxH-xxx
MPAR-X3200H 200 MPAR-x3xxxH-xxx
MPAR-X3300H 300 MPAR-x3xxxH-Xxxx
_ 20.0(0.787)
MPAR-X3400H 400 MPAR-x3xxxH-xxx
MPAR-X3600H 600 MPAR-x3xxxH-xxx
MPAR-X3800H 800 MPAR-x3xxxH-xxx

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 5



MP-Series Electric Cylinders Replacement Parts (Series B and ()

Before You Begin
Before you begin, use the Catalog Number Explanation to verify that the replacement parts

match the electric cylinder that you are attempting to repair. Read through the procedure before
you begin a repair or replacement.

Replace Inline-mount Electric Cylinder Motor

This procedure applies to Bulletin MPAR-xxxxxx-xxA electric cylinders.

IMPORTANT  Apply Loctite 222 to screws < M4 and Loctite 242 for screws > M5 during assembly steps.

Follow these steps to replace the motor.

1. Disconnect motor and feedback cables.

Remove the four screws that secure the motor to the motor flange.
Remove the screw from the coupling hub on the motor shaft.
Remove the coupling hub from the motor shaft.

Clean the replacement motor shaft with a soft cloth and isopropyl alcohol.

S

Position the coupling hub on the shaft of the replacement motor.
Use the dimension from the table on shown in table.

7. Torque the coupling screw to the value on shown in table.

Motor Actuator Cylinder
!
_ __ —-—
X Torque
Cat. No. mm(n) | Nem (bein)
MPAR-x1xxxB-xxA
B —— O
MPAR-x1xxxE-xxA
4.0(35.4)

MPAR-x2C-xxA 19.1(0.75)"
MPAR-x2xxF-xxA 207 (0.81)"

MPAR-x3xxxE-xxA 31.1(1.22)@
8.0(70.8)

MPAR-3xxxH-xxA | 38.5(1.52)

(1) Toleranceis + 0.3 mm (0.01in.).
(2) Toleranceis + 0.7 mm (0.03in.).

6 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

8. Align the coupling, the motor, and the actuator cylinder, then push them together.
9. Attach the motor to the motor mount flange by using all four screws.

10. Torque the screws as follows.

(at. No. Screw Size :::I:;-in)
MPAR-xxxxx-xxA

MPAR-x2xxxC-xxA M5X16 5.9(52.2)
MPAR-x2xxxF-xxA

MPAR-x3xxxE-xxA M6 x 25 5.9(52.22)
MPAR-x3xxxH-xxA M8x 25 10.1(89.39)

Replace Inline-mount Electric Cylinder Coupling or Actuator Cylinder

This procedure applies to Bulletin MPAR-wxxxxx-xxA electric cylinders.

Follow these steps to replace the coupling or actuator cylinder.

IMPORTANT  Apply Loctite 222 to screws < M4 and Loctite 242 for screws > M5 during assembly steps.

1. Disconnect the motor and feedback cables.

2. Disassemble the motor, motor flange, and coupling housing, using the following

diagram.

Item Description Item Description

1 Motor 4 Coupling housing
2 Coupling hub 5 Gear ring

3 Motor flange 6 Actuator cylinder

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 7



MP-Series Electric Cylinders Replacement Parts (Series B and ()

Replace Only the Coupling

If you are replacing the coupling only, follow these steps. If replacing the actuator cylinder, go to
Replace Only the Actuator Cylinder on page 10.

1. Remove the coupling hubs from the motor and actuator.

Coupling Hubs

Q)

Gear Ring

2. Pull apart the new coupling.
3. Insert the new gear ring in one of the coupling hubs.

4. Using the table on page 9, position the coupling hub with the diameter that matches the
motor shaft on the motor shaft.

5. Using the table page 9, position the coupling hub with the diameter that matches the

actuator cylinder shaft on the actuator cylinder shaft.

Motor

Actuator Cylinder

8 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

Motor Actuator Cylinder

X Y
Gat. No. mm (in.) mm (in.)
MPAR-x1xxxB-xxA
— 180" | 197(0.76)"
MPAR-x1xxxE-xxA

MPAR-x20C-xxA 19.1(0.75)" | 187 (0.74)")

MPAR-x2xxF-xxA 207 (081" | 17.7(0.70)")

MPAR-x3xxxE-xxA 311122 | 235(0.93)@

MPAR-3xxxH-xA | 38.5(1.52)@ | 24.5(0.94)@

(1) Tolerance is + 0.3 mm (0.01in.).
(2) Toleranceis 0.7 mm (0.03 in.).

6. Tighten the clamping screws on both the coupling hubs to the torque shown.

Torque

(Cat. No. Nem (Ibsin)

MPAR-x1xxxB-xxA

MPAR-x1xxxE-xxA
— 140(354)

MPAR-x2xxxC-xxA

MPAR-x2xxxF-xxA

MPAR-x3xxxE-xxA
——180(70.8)

MPAR-x3xxxH-xxA

Continue with Assemble the Electric Cylinder on page 10.

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 9



MP-Series Electric Cylinders Replacement Parts (Series B and ()

Replace Only the Actuator Cylinder

1. Remove the coupling hub from the actuator cylinder.

2. Remove the screw from the coupling hub.

3. Position the coupling hub on the shaft of the actuator cylinder.
Use the dimension that is shown on the table in step 5 on page 8.

4. Tighten the coupling hub screw to the torque shown on the table in step on page 9.
Continue with Assemble the Electric Cylinder on page 10.

Assemble the Electric Cylinder

1. Attach the coupling housing by using four screws.

Actuator Cylinder

Coupling Housing

2. Torque the screws as shown in this table.

. Torque
Cat. No. Screw Size Nem (Ibein)
MPAR-xTxxxx-xxA
MPAR-x2xxxC-xxA M6 x 30 4.0 (35.40)
MPAR-x2xxxF-xxA
MPAR-x3xxxE-xxA
M8 x 40 10.1(89.39)
MPAR-x3xxxH-xxA

10 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

3. Attach the motor flange by using the required number of screws.

See table in following the step for the screw quantity.

Actuator Cylinder

Coupling Housing

Motor Flange

4. Torque the screws as shown in this table.

(at. No. Screw Quantity | Screw Size L::I:;‘in)
MPAR-xxxxx-xxA

MPAR-x2xxxC-xxA M4x12 3.0(25.6)
MPAR-x2xxxF-xxA !

MPAR-x3xxxx-xxA M6X16 10.1(89.39)

5. Align the coupling, the motor, and the actuator cylinder and push them together.

6. Attach the motor to the motor mount flange by using all four screws.

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 n



MP-Series Electric Cylinders Replacement Parts (Series B and ()

7. Torque screws as follows.

(at. No. Screw Size ::r:l:;-in)
MPAR-xxxxx-xxA

MPAR-x2xxxC-xxA M5X 16 5.9(52.22)
MPAR-x2xxxF-xxA

MPAR-x3xxxE-xxA M6 x 25 5.9(52.22)

MPAR-x3xxxH-xxA M8 x25 10.1(89.39)

Replace a Parallel-mount Electric Cylinder Motor or Belt

This procedure is for Bulletin MPAR-xxxxxx-xxB/D/E electric cylinders. These steps can be
used to change the motor or the actuator cylinder orientation.

Follow these steps to replace the belt, motor, or actuator cylinder.

IMPORTANT  Apply Loctite 222 to screws < M4 and Loctite 242 for screws > M5 during assembly steps.

1. Disconnect the motor and feedback cables.
2. Ifthe motor has brake, release the brake on motor so that the rod moves freely.

3. DPosition the rod to the center of travel.

12 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

ATTENTION: Exposed parts that move can cause severe injury. Do not operate the electric cylinder
without the cover in place. Follow the lock-out procedures before servicing the machine.

5. Loosen, but do not remove the four hex screws that hold the actuator cylinder to the

baseplate.

6. Loosen the belt tension screw.

Motor Mount Screw (4X) Actuator Cylinder Hex Screw (X4)

Belt Tension Screw

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 13



MP-Series Electric Cylinders Replacement Parts (Series B and ()

7. Remove the four socket head cap screws that secure the motor to the baseplate.

14 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

9. Ifyou are replacing a motor or actuator cylinder, remove the pulley from the part being
replaced.

Use a hex driver to hold the clamping cone and release the jam nut to release the pulley.

I

10. If necessary, reposition the motor and or actuator cylinder and secure to baseplate.

IMPORTANT  If you are mounting the motor with the connectors between the actuator cylinder
and the motor, rotate the motor connectors so they exit 180° away from the shaft.

11. Securely attach the motor and electric cylinder, but do not torque at this time.

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 15



MP-Series Electric Cylinders Replacement Parts (Series B and ()

12. Reinstall the pulley on the new part.

13.
14.
15.

Set height and torque the motor jam nut to values shown in this table.

Pulley Height Torque
(at. No. Jam Nut

mm (in.) Nem (Ibein)
MPAR-x1xxxx-xxB/D/E

6.5...7(0.26...0.28) M16x1.5 12(106.21)
MPAR-x2xxxC-xxB/D/E
MPAR-x2xxxF-xxB/D/E 8...8.5(0.32...0.36) M22x 1.5 32(283.25)
MPAR-x3xxxE-xxB/D/E

7.5...8(0.30...0.32) M30x 1.5 70(619.55)
MPAR-x3xxxH-xxB/D/E

Remove motor socket-head cap screws.

Position motor as shown in step 8 and slip on new belt.

Attach the motor to the baseplate by using four socket head cap screws.

Torque the motor socket-head cap screws. to values shown in this table.

Screw Torque

Cat. No. Size Nem (Ibein)
MPAR-x1xxxB-xxB/D/E

MPAR-x1xxxE-xxB/D/E

— 1 M5x16 59(52.2)

MPAR-x2xxxC-xxB/D/E

MPAR-x2xxxF-xxB/D/E

MPAR-x3xxxE-xxB/D/E M6 x 20 5.9(52.22)
MPAR-x3xxxH-xxB/D/E M8x20 10.1(89.39)

16.  Secure, but do not tighten the actuator cylinder with four hex screws.

17. Tighten belt tension screw.

16

This table shows the recommended frequency values.

Recommend Belt Tension Frequency
(at. No. N (Ibf) H
MPAR-x1xxxx-xxB/D/E 242...254
—_—132...35(72...79)
MPAR-x2xxxC-xxB/D/E 242...254
MPAR-x2xxxF-xxB/D/E | 57...63(12.8...14.2) 152...160
MPAR-x3xxxx-xxB/D/E | 108...119(24.3...26.8) 161...168

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018



MP-Series Electric Cylinders Replacement Parts (Series B and C)

IMPORTANT  Alow pretension force is better than a high pretension force.
Excessive pretension on the belt results in:

« impermissible radial loads causing shaft to break
« increased wear in the axis and motor gearings
«reduction of the service life of the belt

18. Torque the actuator cylinder screws to values shown in this table.

Gt Hex e Torque
MPAR-x1xxxx-xxB/D/E

MPAR-x2xxxC-xxB/D/E 59(52.22)
MPAR-x2xxxF-xxB/D/E

MPAR-x3xxxx-xxB/D/E 10.1(89.39)

19. Secure the cover to the belt housing with five socket head cap screws.

. Torque
(at. No. Screw Size Nem (Ibein)
MPAR-x1xxxx-xxB/D/E
M6x45
MPAR-x2xxxC-xxB/D/E 5.9(52.22)
MPAR-x2xxxF-xxB/D/E M6x60
MPAR-x3xxxx-xxB/D/E M8x70 10.1(89.39)

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 17



MP-Series Electric Cylinders Replacement Parts (Series B and ()

Additional Resources

These documents contain additional information concerning related products from Rockwell

Automation.

Resource

Description

MP-Series Electric Cylinders Installation Instructions,
publication MPAR-IN0O1

Information on how to install MP-Series electric cylinders

MP-Series Brushless Servo Motor Installation Instructions,
publication MP-IN001

Information on how to install, medium frame (100...165 mm)
MP-Series low-inertia motors

MP-Series Brushless Servo Motor Installation Instructions,
publication MP-IN006

Information on how to install small frame (<75 mm) MP-Series
low-inertia motors

Product Certifications website,
http://www.rockwellautomation.com/global/certification/
overview.page

Provides declarations of conformity, certificates, and other
certification details

You can view or download publications at http://www.rockwellautomation.com/global/

literature-library/overview.page. To order paper copies of technical documentation, contact your
local Allen-Bradley distributor or Rockwell Automation sales representative.

18 Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018


http://literature.rockwellautomation.com/idc/groups/literature/documents/in/mpar-in001_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/in/mp-in001_-en-p.pdf
http://literature.rockwellautomation.com/idc/groups/literature/documents/in/mp-in006_-en-p.pdf
http://www.rockwellautomation.com/global/certification/overview.page
http://www.rockwellautomation.com/global/certification/overview.page
http://www.rockwellautomation.com/global/literature-library/overview.page
http://www.rockwellautomation.com/global/literature-library/overview.page

MP-Series Electric Cylinders Replacement Parts (Series B and C)

Notes:

Rockwell Automation Publication MPAR-INOO2C-EN-P - February 2018 19



Rockwell Automation Support

Use the following resources to access support information.

Knowledgebase Articles,

Technical Support | How-to Videos, FAQs, Chat, . -
User Forums, and Product https://rockwellautomation.custhelp.com/

Center
Notification Updates.
LocalTechnical | | -« the phone number | hitp://wwsrockwellautomationcom/global/support/get-support
ocate the phone number p://www.rockwellautomation.com/global/support/get-support-
Support Phone for your country. now.page
Numbers

Find the Direct Dial Code
for your product. Use the
Direct Dial Codes code to route your call http://www.rockwellautomation.com/global/support/direct-dial.page
directly to a technical
support engineer.

Installation Instructions, ) . .
. . . : . . -|
Literature Library | Manuals, Brochures, and http://www.rockwellautomation.com/global/literature-library/

Technical Data. overview.page
Product Get help determining how
bt products interact, check
Compatibility and features and capabilities, | http://www.rockwellautomation.com/global/support/pcdc.page
Download Center and find associated
(PCDC) firmware.

Documentation Feedback

Your comments will help us serve your documentation needs better. If you have any suggestions
on how to improve this document, complete the How Are We Doing? form at hetp://

literature.rockwellautomation.com/idc/groups/literature/documents/du/ra-du002_-en-e.pdf.

Rockwell Automation maintains current product environmental information on its website at
http://www.rockwellautomation.com/rockwellautomation/about-us/sustainability-ethics/product-environmental-compliance.page.

Allen-Bradley, MP-Series, Rockwell Software, and Rockwell ion are trad of Rockwell A ion, Inc.

Trademarks not belonging to Rockwell Automation are property of their respective companies.

Rockwell Otomasyon Ticaret A.$., Kar Plaza Iy Merkezi E Blok Kat:6 34752 Igerenkdy, Istanbul, Tel: +90 (216) 5698400

www.rockwellautomation.com

Power, Control and i luti; d ter

Americas: Rockwell Automation, 1201 South Second Street, Milwaukee, W1 53204-2496 USA, Tel: (1) 414.382.2000, Fax: (1) 414.382.4444
Europe/Middle East/Africa: Rockwell Automation NV, Pegasus Park, De Kleetlaan 12a, 1831 Dicgem, Belgium, Tel: (32) 2 663 0600, Fax: (32) 2 663 0640
Asia Pacific: Rockwell Automation, Level 14, Core F, Cyberport 3, 100 Cyberport Road, Hong Kong, Tel: (852) 2887 4788, Fax: (852) 2508 1846

Publication MPAR-INOO2C-EN-P - February 2018

Supersedes Publication MPAR-IN002B-EN-P - September 2012 Copyright © 2018 Rockwell Automation, Inc. All rights reserved. Printed in the U.S.A.



http://www.rockwellautomation.com/rockwellautomation/about-us/sustainability-ethics/product-environmental-compliance.page

	MP-Series Electric Cylinders ReplacementParts (Series B and C) Installation Instructions, publication MPAR-IN002C-EN-P 
	Summary of Changes
	About This Publication
	About the MP-Series Electric Cylinder Replacement Parts
	Catalog Number Explanation
	Before You Begin
	Replace Inline-mount Electric Cylinder Motor
	Replace Inline-mount Electric Cylinder Coupling or Actuator Cylinder
	Replace Only the Coupling
	Replace Only the Actuator Cylinder
	Assemble the Electric Cylinder

	Replace a Parallel-mount Electric Cylinder Motor or Belt
	Additional Resources
	Back Cover


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.6
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 1
  /Optimize true
  /OPM 1
  /ParseDSCComments false
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts false
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Average
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 2.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Average
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 2.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Average
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


